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«Unwohl Lpthnptipwjh CaytpnipniG» NFLU UMEC, <<, Gplwb, L.Uwpquyud 10
(upyuwjhb yuqiwlbpwnipjwl whdwlnedp b qunGdbint ywjpp)

(hwquip ppud)
WLALILARUD {wpytunnt ‘Lwhunpy mwpjuw Yhpg
dudwwlwypowl
1 UlwmhyGtp
1.1 | FpudwljpuG dhonglGtp b pwGlwihG hwphyGtp 597,396 972,399
Cwhnyp/AGwum] Ypwswhynn hpwlw 6 wpdtpny hwpywminn
1.2 |$hwluwywb wymphyGhp 587,355
1.3 | Pullbpmd mbnwpwyfudwo dhongGlip 391,583 393,796
1.4 [pudwlwi pnijwjnud wj) mbnupw)untdGhp
1.5 [ QwdwlunpyGtphG wpdwo Juplbp b owjp hinfuwwnynipmGitp 6,637,098 6,874,830
1.6 [dw@wnph hwiwp Gwliwnbufwd GhpppnuiGhp
1.7 | Ujp gnpownGmpmiGGtph gony unwgytijhp gnuiwnGbip
1.8 [dwpdwlwnipjul gony unwgybipp gnuiwplbp 12,809 13,483
1.9 | UpGsb dwpiwG dwidlbump wwhynn GipgpmudGhp
1.10 [uhpypnuiGbp w)p widwlg YubnGwngpulwl juwyhunwnpd 3,680 3,680
L11 [YGuyhwnwy GipnpnuiGip hhdGulwG dheongGhpnud L ny
Gmipwlwl wlmphyGlpnd 7,295 7,621
111 dw&wnph hunfwp uwpwhynn ng pGpwghly wimhyGhp
34,816 6,712
1.12 | <hdlwlwb dhonglbtp L ny Gpuipwlwl whnhyGbp 261,574 266,679
113 [QEwmwdquwd hwpluwihG wlnhyGbp
1.14 | Unwgytihp winynulhp
1.15 |Uj wlywmhyGhp 446,399 416,387
Llqudblp' wlmp]Gkp 8,980,005 8,955,587
2 MupnunpnipjmGGkp
2.1  [PwGYtphg unugyuwd hnfuwnnipymbGibp L Juplbp 163,451 422,293
2.2 [puiwlwl ymYywihg unwgywd wyy hnfuwnnipmGibp 4,859,288 5,064,106
2.3 [ Qwdwlunpylibphg Ghpgpuyywd tinfuwnnipymGibp 359,135 504,674
2.4 [Mwpnwynpmpmilibtp << junwwpmpul Guudunip 18,092 1 2,269
2.5 [dwpdwlwmpjub gony yGwpybihp gmiwnplbp 16,799 17,479
2.6 |dwpluwihG juquwybpynipjwl Ynnihg poqupiuwo wpdbpnplip 1,079,161 1,088,672
2.7 |[MwhmuwnGhp
2.8 | déwpykihp gnuiwpbtip 597,097
2.9  Kbmwdqyud hwplughl wwpmwynpnipmGibp
2.10 | d6wpdbhp mnlnubtip
2.11 | Uy wwpuwynpmpmiGGbp 33,518 26,805
Llgudblp’ wupnwynpmpmbGhp 7,126,541 7,136,298
3 Guwujhwnwy
3.1 bwlnfGwnpulwb Juuwhwmwy 1,000,000 1,000,000
3.2 | Mwhnuwnlhp
3.2.1 Q-{fuwynp wwhniuwn
322 Lhpwglwhwndwl ywhnwwnmbbp
3.3 | Ynunwlwo pwhnyp 853,464 819,289
Llqudblp’ uwwfunwg 1,853,464 1,81 9,289
Llquwdkln’ ywpmwynpmpymGGLp b fuugfunwy 8,980,005 8,955,587 |

Jwplwiht Ywqdwlbpwnipjwl Jupsnipjwl Gwhuwquh

’ T Upwlbujwa
(qifuwynp nlonka) //
A
Sifuwaynp hwojwwwh «é/k Q. Unpbljwa



blhipwhwybjus 1

LUCUGSJNMo3NML
Qwiwwwpthwy $hlwluwlwl wpnymbpGhph dwuhl (GL phy 1)

«31» dwpwh 2025 p.
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(pwlh whywbnudp L qunbytne Juypp)

(hwquip npwd)
<wpimm “Lwjunpn Qupytnm wwpw | ‘Lwlunpy mwpjw uljqphg
dunfumGwluypowmb duiwlwluwyppwl uliqphg vhGsL hwyybkmm | “hisk Gujunpn mwp]w
TLdULNrUT unfuwphyp hwyytmm wivwphp
Snlynuwjht L GiwGunnhy bywidnunGhp 192,831 194,163 192,831 194,163
Sninuwyhl L Gdwluwwnpy swfuubp (116,419) (107,910) (116,419) (107,910)
Qnun wnynuwyhl b Giwluwnpy jwinn 76,412 86,253 76,412 86,253
Glwdnun puthwpwdhitppg 0 310 0 310
UndhupnG L wy) JGwnGhph wbupny bywidnunGbp 6,260 7,611 6,260 7,611
UndhupinG L wj y§wpGhph wbkupny dwhuubip (532) (423) (532) (423)
Cwhnip/]Gwum] Jpwywihynn hpwwl wpdtpm] hwyywnynn
$bhGwbuwlwl whnpyGphg gnun puwhnyp/Gwu
Jwdwnph hwiwp Gwjuunnbugwd GhpgpnudGhphg gmin pwhnp(]Gwu)
UhGsL dwpdwl dwdlnp wwhynn GhipnypnuiGlphg gnun pwhnyp/ (Gwu)
Upuwpdnipwhl gnpdwppllphg uinwgywo gnin ywhniyp/( YGwu) 1,212 1,192 1,212 1,192
Upmuwpdmpujhl gnpdwpplibphg unwgywd gnun pushnyp/( Gwu) 5,117 5,192 5,117 5,192
U gnpownliwlwb tjwinunlhp 2,456 898 2,456 898
Qopownfwlwl tjwinimbikp . 90,925 101,033 90,925 101,033
Qwplybphg L wyi hnfuwnynipymiitphg wnwpwgwd Ynpniumlbbp 15,673 1 8,083 15,673 18,083
Clnhwlmp Jupywliwl dwhiubp (53,562) (50,202) (53,562) (50,202)
Uy gnpownliwljwl dwuukp (4,763) (4,637) (4,763) (4,637)
Cm!mqu/ﬁ(t{ﬁmun) dh6sk huplouip ] 48,273 64,277 48,273 64,277
Cwhmpwhwpyh qony dwhuu (thnfuhwmnmgnu) (14,098) (5,436) (1 4,098) (5,436)
duniwGuwypgwiGh ywhnijp 34,175 58,841 34,175 58,841
Ujn pynud’
Uwyp juquwlbpuympjul pudGhdwu |
QyLpwhuljynn pudihdwu
Uy b qupthwy phiwbumlwb wpymbp ) 0 0 0 0
Onfuwpdbpuwjhl mwppbpmpymGGhp
wpunbpypjw gnpownlinipymGGatph Jipwhwyupyhg
Juwéwnph hwidwp dwwnghth bhwluwlwl wlnh]Ghp
JhpwqlwhwnmdGbp -
Apuniwljwl hnupbiph hpun]npnud
Ny plipwghly whmpyGtph yipuglwhwnnilbphg ogmultp
U hwdwywphwl Gljwdnmp qony pwhnipwhwply
Uy bundunyyuwphwl phiwbowlmb wpyyoilp hwplniihg hmn 0 0 0 0
 dwiwywpbwy phiwluwliws wpymbp 34,175 58,841 34,175 58,841
- Ujny pyaud’ -
 Uuyp huqiwlbpynipjul pudGhdwu 34,175 58,841 34,175 58,841
Qutpwhulpnn pudQlidwu
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Tpwdwlwl shenglGtph hnuptph Ytpwpbpjug (Al 4)

«G31» dmpnh  2025p.

«UnwghG {mhnptipwjhlG CGYLpmp Gy AU UMNER, <<, Gpluwd, 4. Uwpqujwd 10
(Juplyw)hG uqiwlbpympywl wijwindp b quGybm Jujpp)

Glhpwhu]tpjuo 4

(huquip grud)
CGpwghl wwp]u Lwunpn wupygw
WLLLLORUD :lghpul;g liil{xnﬁ 5L huipinm ;l;dq‘fgi ;l{lnﬁ s hwigtwn
1. dpwdwlwl dhongGiph quun hnuptip gnpdwniwlwh qnpon GlnipyniGhg (1 12,868) (3 17 ,980)
‘tpwdwlul dpngGbph qnun houpbp dplsh gopownbwlwl wlmpyGeph b ywpawynpnpnG6Eph timpnfunpnip 32,991 46,978
Uwnwgwd winlnubibp 185,170 185,617
JEwpjwd mnynubltpn (111,326) (97,988)
UnpnwwnGhph yepuwlwlglnud
Uwnwgywd pwhwpwdhGibp
Uwnwgquwd gnun hndhuhnG gnufwplbp 5,728 7,188
Ldwpwd wyluwnwyund b gpwl hwyjwuwnpbggwd wy) yewnnuilbp (17,401) (18,261)
Jawpngwd hwpybp (29,180) (29,578)
‘tpwdwhul dfigngGbph qmn houpbp gopdwnGuwlwl wimpGeph b wupmnwynpoypoG6kph pmpofunipm6lphg (145,859) (364,958)
Stnupwyujwd ShongGhiph Gfwgnud (wytjugnug) 222,097 (4,791)
Ltipgpujuwd Juplbph wybjugnud (Gwgnug) (298,627) (348,629)
CwhnypAGwuny Yyipwswihyng hpwlwl wpdepm] hwyywneyng b wsweph hwiwp dunnskih wndtpnpliph Gfwugnud (wybjugnu)
Shlwluvwlul Jupdwlwinipjwl hiwg wnwgybihp gnudwplbph GJugnud (wybjugnud)
Apuwdwlw( dhongGlph gnun hnupbp wj) gnpdwnGwlw gnpdmGtnipnilipg (69,329) (11,538)
2. Ypwiwlwi thengGtph qnun hnuptip GhpppmiiwihG gnpémiGhnipymbhg (695) (68)
Uhlsb dwpdw@ dwdlbnp wwhyny wpdbpnpbph Gwgnud (wybpugno)
Uj) widwlg YwlnGuwnpulwl fuwhnwimd GepgpnuGph Gwgnud (wybpugnud)
<piGwlwl JhongGpnid b ny Gympwlwl wlnhyGipnad juwhnuy GipgpnusGeph GJwgnul (wybjugnid)
LhdGwlwb dhongGhph L ng Gnipwlwl wlnhyGhph dnpphpmd (695) (68)
Lpdlwlwl dhongGliph L ny Gjnipwlwl wlwhyGiph omwpnud
“Apwdwlul dhonglbph gnun hnupbp wy) GhpgpnuiwhG gnponiGhnipjmlhg
3. dpudwlwl dhgngGlph qnun hnuptp $hGwGumlwb gopdniGlinipjnilhg (257,900) 63,040
Jawnjwd pwhwpwdhGGbp
Ruwlltiphg unwgyuwo Juplbiph wybpugnid (GJugnud) (257,900) 63,040
Unwgywd wj) thnfuwnnipniGGbph wbpugnud (Gugnud)
Qwplyuhl uwqiwlbpympymbGph Ynnihg paqupywo wpdbpnptph wybjugnas (Gwgnus)
Pwdtuntiptiph GipppmudGlipp YulnGuwnpuwl hhdGunpudnid
bhlwluwlwl Jupdwluwimpjub qon] Jéwmibihp gnudwplbph wbjugnud (Gugnud)
Apwdwlwl $hongGbph gnun hnupbip wy) $hwbuwljwb qnpdniibmpmbhg
Upwnuwpdnyyph thnfuwpdbiph tininfunipjul wntignipymGp npudwlwG ShongGhiph L nputg hwidwpdbtpGbph pw
(3,540) (22,808)
“Fpudwlul JhyngGhiph qnun hnup (371,463) (255,008)
“rpwdwluwl dhngGlip L npwlg hwdwpdbpGp dwdwlwlw)pgwlh uyqpnid 972,399 1,061,540
“pwdwlul dhongGtip L npulg hwiwpdbplbp dwdwlwlw)pgwih Yhponid 597,396 783,724
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